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AFM Unit 6 - Probability Study Guide Nuné Kﬁpg/
Formulas to remember:
Permutations: Combinations:
P(n, n): \ C(n, r): n \.
AN —7
(h)-Y
P(n, r): W \‘ Geometric Probability:
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(- Arad of e
: P(A and B):
PR e PLAB)
P(A or B):
PR T P(B)— P(Bonn)
Binomial Probability: N -F
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Find the following. First decide if it is a permutation or a combination!

1. How many subcommittees of 2 Democrats and 3 Republicans can be formed from a committee whose
membership is 6 Democrats and 8 Republicans?

A
C/ sl ___.Cf—' & 8/
(_0 C9_\ 5 g % L[l_z\_ S‘- %\' oy %qo

2. In how many ways can 5 people be seated in a room containing 2 chairs?

Sl

S Bl

3. A quality control engineer must inspect a sample of 3 fuses from a box of 100. How many different samples
can he choose?

o= A% =10

4. How many three-digit numbers can be formed from the digits 2, 3, 4, 5, and 6? Assume there is no repetition

Ofdlglj[S. : _ 6 \
Z Pb g f_’z’” WO

5. How many 3 letter and 4 digit license plates are there if you can repeat numbers but not letters?

9\@ %9“&7 lUJQ{Uc 0@
o r:r = e oYy
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6. A witness to a holdup reports that the license of the getaway car consisted of 6 different digits. He
remembers the first three but has forgotten the rest. How many licenses do the police have to check?

\ l | G g [

= [Uco

7. In how many ways can the letters from the word felevision be arranged?
1ot M3

. — ZL€

EYFARE (2 YN

/&/@w many ways can 8 people be seated at a round table?

9. A clown has 8 balloons, each a different color. There are 6 children. How many ways can the clown give

each child a balloon?
I T S T
! 2t 7 20100

10. How many 9-member baseball teams can be formed from 15 players i’f only 3 pitch while the others play
the remaining 8 positions? (You only want 1 pitcher).

| 2 | [2_'
501 Lt ST T

P(.’f‘b‘l,\zy
I1. A photographer is taking a picture of a bride and a groom together with 4 attendants. How many ways can
he arrange the 6 people in a line if the bride and groom stand in the middle?

M3+ Vx4
pia Ha 1

12. You are buying a new car. You can either pick a Honda Civic or an Accord. You can then choose from red,

black, gray, white, or blue for the exterior color. The interior can be tan or light gray and then you can pick from
either leather or cloth. How many options for a new car do you have?

2(S)(2) (3-) =0

Find the following probabilities. Show all work.
13. Two dice are rolled. What is the probability that their sum is 6 or 8?
S 5 e _ 4
i —
20 B |3

14. A bag contains 4 red balls and 2 white balls. If two different balls are selected are random (without

replacement), what is the probability of getting: Iz W w E
(a)both red b) one of each color?
i 'R 'Y

422 e
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o 15. Find the probability of drawing two aces from a deck of cards if the first card is not replace
’ second i ' ' <
) d is drawn. p( AR) : 8 2 |

?TZ‘\:“Z'E\

sjve tickets are drawn without replacement.

d before the

16. A box contains 10 red, 8 green, and 12 blue tickets. Two succes
Find the probability of drawing (without regard to order): 2 1"!)1ZL~Q«

a) one blue and one green ticket b) two red tickets
2 g 22 LA . -
A e 2 30 29 24
T 14S
20 &b

- ¢)no blue ticket

(17

g ly o 5

0 24 ,l—lg

18. In his pocket, Ben has 5 dimes, 6 nickels, and 4 pennies. He selects 3 coing. What is the probability that he
selects exactly dime and 1 penny (in no particular order)? iS tuheXA DPn PND

BN IR B S

19. How many ways can 8 charms be arranged on a bracelgt with no clasp?

7 oM\ T
20. One card is drawn at random from a standard deck. What is the probability of drawing an ace or a red

card? '\7(};\.&/5 5 & ’PCM)"’ PC M"‘)

b, He . = L
SZ S N P 1

21. Of the 17 girls in a classroom, 10 of them have blonde hair. Of the 15 boys in the same classroom, 8 of them
have blonde hair. What is the probability of randomly selecting a girl or a student with blonde hair?

Y+ Plhlonde)— P(pohn)

1 g _ qo  _ 75

22. Determine if the following is a fair game: Two dice are rolled. If the sum is less than 7, then player A
wins $5 from player B; otherwise, B wins $4 from A.

(You §IUST create a table) e s ( 15 5 -~y ( 2] )
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22. Kay Paso, who is 3 years old, tears the labels off all 10 of the soup cans on her mother’s shelf. Her mothe, N\
knows that there were 2 cans of tomato soup and 8 cans of vegetable soup. She selects 4 cans at random,
What is the probability that exactly one of the cans is tomato? TN TAY

}iLQ%”W
Wwa ¢ /742 wiv

VVV T N .
\?éive cards are dealt from a deck of 52 cards. Which of the following shows the probability that 4 aces wil]
be dealt?
W e mle g Lfduc) (g LCape)
O\N\ 12€ 5 52C 5 52C 5 52C 5

24. Two cards are drawn from a deck of 52 cards with the first card replaced before the second card is drawn.
What is the probability that neither card is a spade?

37 .
® % o e i g 237
4 L ¥

25. A pair of dice is tossed. What is the probability that the sum of the faces showing on top is 10?
2 1 1 1 .é——
a - s = s
@ 3 = © 3 CYRRY 50
26. Suppose you play a game in which you make a bet and then draw a card from a standard deck of 52 cards

as well as 2 jokers. If you draw a joker, you keep your bet and win $5; if you draw a face card, you keep your
bet and win $2; and if you draw any other card, you lose your bet. What is your expected value on this game if

you bet $17? i _ 2 4= X Hu
| Trved Aece \ove Ey= U(Et{) 1’5(Sq) ! ( <y
Y16 % |~ ”
Y z{q‘ | =4 Misy tv= 7;;‘ o 15

T
Solve the following using the binomial probability theorem.

27. What is the probability of getting exactly 2 “fives” in 4 'rolls of a die?

n-=4 >SS

P %
v

V=Y = “

0™ % w4

29. If you throw a dart at the square board shown,
find the probability it will land in the middle ring.

Pirmale = ST0 2 (7T 9T
"t R = 3T T S
Redg it = am
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